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31 Susanis an student. She is always eager to participate in extra-curricular activities.
(A) honest (B) envious (C) energetic (D) accurate
32 We can easily live a self-sufficient life we are willing to pursue only what we really need for survival.
(A) as far as (B so long as (©) despite that (D) so that
33  Due to his amazing in appearance to the real bandit, he was wrongly accused of committing the crime.
(4) resemblance (B) superiority (©) commitment (D) submission
34  The gunman in Friday’s bank robbery has been as Matt Simpson, a truck driver who had been unfairly
dismissed.
(A) interpreted (B) imitated ©) instructed (D) identified
35 Be , please. We are totally broke now and cannot afford a two-million-dollar sports car!
(A) generous (B) practical (© romantic (D) optimistic
36 Some may help attract the audience’s attention, but if you keep waving your hands, the audience will
feel distracted.
(A) fireworks (B) gestures (©) instructions (D) necessities
37 The volunteers’ constant and unfailing care and concern gave the poor family to go on.
(A) strength (B) technique ©) variety (D) witness
38  The terrorist attack caused heavy , killing hundreds of people and injuring thousands.
(A) dissidents (B) defeats (©) candidates (D) casualties

57 39 = 5T 42 RE L REAR

A big goal of advertising is to increase your consumption. Everyone needs to consume; we all need to eat, drink and
buy basic necessities. But a lot of advertising is aimed at convincing us that we should have much more than we need.
This involves encouraging us to throw out possessions that are still good or which could be recycled, _ 39  extra
things we may never use. This excess consumption not only _ 40  the world’s resources but also increases pollution and
waste. Children born today in London or New York, for example, will consume, pollute, and waste fifty times more than
children born in a developing country.

It’s estimated that more than 1.7 billion people make up the world’s consumer society: people who have more
money to spend than __ 41  to cover their basic needs. This number is increasing every year. But these 1.7 billion do
not spend _ 42 . A fifth of the world’s population, mostly people in Japan, North America, and Europe, are
responsible for 90 percent of consumption.

39 (4 rather than buy (B) so as to buy ©) in spite of buying (D) as well as to buy
40 () pulls up (B) uses up (©) takes up (D calls up
41 (1) have required (B) are requiring ©) required (D) requiring

(

42 (4 evenly (B) smoothly ©) exactly D) purposely



43  Allen: What do you do to amuse yourself?
Lisa: I like movies and music. | play the flute every day. How about you?
Allen: __ But I have something just like yours: | am a movie fan.
(4) Going to an amusement park can be fun.
B It’s all up to you.
© Keep your nose out of it.
(D) I don’t know much about music.
5T 44 = 5T 46 JiE £ R
A: Good afternoon. Henry’s Russian Restaurant.
B: Hello. I’d like to make reservations for dinner tonight.
A:Yes. 44
B: Five. We’d also like a table near the window, too, please.
A: I’ll certainly see __45 . What time do you want your reservation for?
B:_ 46
A: And what is the name, please?
B: The name is Miller.

44 (A What would you like to order? (B) How many people are there in your party?
(© How much does the dinner cost? (D) Do you have a reservation?

45 (1) if that can be arranged B if everything is all right
© if you can wait for a moment (D) if we can take your order

46 (A We’ll be ordering at 7:30. (B We’ll be paying at 7:30.
© We’ll be leaving at 7:30. (D) We’ll be coming at 7:30.

5 47 fH% 7 50 FE L REAC

The melting waters of the Ruwenzori Mountains feed the headwaters of the Nile. Here, for hundreds of thousands
of years, people have depended on the river for basic necessities: water, transportation, farming, and fishing.

Now, the glaciers of the Ruwenzori are melting so rapidly that they will soon disappear. Within the next twenty or
thirty years, most glaciers in Africa and South America will vanish completely.

The shrinking of the world’s glaciers will have massive consequences for communities that depend on ice melt. In
the short-term, these consequences may appear beneficial. For example, extra water from glaciers means that
hydroelectric dams will run at maximum power. In the long run, however, the melting of earth’s glaciers could be
catastrophic. Today’s extra hydroelectric power has been stolen from the future. Communities with ample power now
may have none after the glaciers have melted, and the loss of ice will increase sea levels worldwide.

Temperature change and a lack of snow is causing the retreat of the glaciers. Glaciers are no longer getting built
up during the snowy winter months, so they are no longer able to maintain their size over the long run.

Unless there are some changes in the current rate of global warming, the glaciers are essentially doomed.

47  What does the word “beneficial” mean in this passage?
(4) Helpful (B) Worthless (©) Dangerous (D) Unbelievable
48  Which of the following descriptions of glaciers is true?
(A) Glaciers are the main water source for the Nile.
(B) Melting glaciers may help hydroelectric dams run at maximum power for a long time.
(© As temperature increases, glaciers are getting built up.
(D) Melting glaciers will result in the decline of sea levels.
49  What is the main idea of this passage?
(A) Someday most glaciers in the world will disappear completely.
(B) Melting glaciers provide water for irrigation, drinking, and transportation.
(©) Temperature change and a lack of snow causes the decrease of glaciers.
(D) The melting of glaciers is potentially disastrous to human beings.
50 According to this passage, which of the following statements is true?
(A) The Nile is not affected by global warming.
(B) Melting glaciers are caused by global warming.
(© With the melting of glaciers, we are saving hydroelectric power for the future.
(D) Melting glaciers will only influence the world on a small scale.



